

$$y = \frac{m + \mu}{r_m \mu + \mu_m r - 1 + \mu + \mu}$$

$$(x-1)(x-1)(x+4) \neq 0 \rightarrow P_f = \mathbb{R} - \left\{1, \frac{1}{4}, -4\right\}$$

$$\begin{array}{r} \cancel{Var^R} + \cancel{Var^R} + 1 \cdot a + \mu \quad | \quad \frac{a-1}{\cancel{Var^R} + \cancel{Var} + \mu} \\ - \cancel{Var^R} - \cancel{Var} \\ \hline Var^R + 1 \cdot a \\ - \cancel{Var^R} - \cancel{Var} \\ \hline Var + \mu \\ - \cancel{Var} - \mu \\ \hline \end{array}$$

$$(n-1)(n+4)(n+1)$$

$$\begin{array}{ccc} \downarrow & \downarrow & \downarrow \\ -1 & -4 & -1 \end{array}$$

$$P_2 = 18 - \left\{ -9 - 1 - \frac{1}{4} \right\}$$

$$\begin{array}{r} n^2 - n + 1 \\ -n^2 + n \\ \hline 1 \end{array} \quad \begin{array}{r} n-1 \\ n^2 - n + 1 \\ \hline 0 \end{array} \rightarrow \Delta < 0 \quad \text{,, keine"} \\ \begin{array}{r} -n^2 + n \\ +n^2 - n \\ \hline 0 \end{array} \quad \begin{array}{r} n-1 \\ n^2 - n + 1 \\ \hline n-1 \\ -n+1 \\ \hline 0 \end{array} \quad (n-1)(n^2 - n + 1) \rightarrow \text{,, keine"}$$

$$(n-1)(n^2 - n + 1) \rightarrow D_f = R - \{1\}$$

$$\begin{array}{r} a^m - r a^{m-1} + r a^{m-2} - \dots + (-1)^{m-1} r a + (-1)^m \\ - a^m + r a^{m-1} - r a^{m-2} + \dots - (-1)^{m-1} r a + (-1)^m \\ \hline - r a^{m-1} + r a^{m-2} - \dots + (-1)^{m-1} r a + (-1)^m \\ \hline - r a^{m-1} + r a^{m-2} - \dots + (-1)^{m-1} r a + (-1)^m \\ \hline m-1 \\ - a + 1 \\ \hline \end{array} \rightarrow \Delta C = \dots$$

$$D_f = (-\infty, 1] \cup (1, +\infty)$$

$$y = \frac{r}{s^r - \omega |s-1| - r\omega + \omega}$$

$$R^- \rightarrow \alpha^r + \alpha \alpha - \alpha - \gamma \alpha + \alpha \neq 0 \Rightarrow \alpha^r + \gamma \alpha \neq 0$$

$$\alpha(\alpha^r + \gamma) \neq 0$$

$$D_F = R - \{-r, 0, r, \omega\}$$

$$R^+ \rightarrow a^r - a n + a - r a + a \neq. \rightarrow a^r - v a + 1. \neq.$$

$$(a - r)(a - a) \neq.$$

$$r \neq a$$

$$\text{الف) } y = \frac{n+3}{|2n+1| - |n+3|}$$

$$\begin{aligned} \gamma_{an} + 1 + \alpha + \nu &= \gamma_{an} + \epsilon \rightarrow \gamma_{an} \neq -\epsilon \\ \gamma_{an} + 1 - \alpha - \nu &= \gamma_{an} - \epsilon \rightarrow \gamma_{an} \neq -\epsilon \end{aligned}$$

$$x_a + 1 - a - r = a - r \neq 0 \rightarrow a \neq r$$

$$D_f = \mathbb{R} - \left\{ -\frac{c}{k}, y \right\}$$

$|r_{n+1}| - |a+r| \geq 0 \rightarrow |r_{n+1}| \geq |a+r|$
 $\xrightarrow{\text{Df. 1.2}} r_{n+1} - r_n - \epsilon \geq 0 \rightarrow r_n - r_{n-1} - \epsilon \neq 0$
 $(a-\epsilon)(a+\epsilon) \neq 0$
 $r = \frac{a-\epsilon}{n}$

$$D_f = (-\infty, -\frac{\epsilon}{\mu}] \cup [\nu, +\infty)$$

$$\rightarrow y = \log \left(1 - \log \frac{L}{T} \right) \quad \text{---} \quad \Delta y \quad \text{---} \quad I \quad \text{---} \quad \textcircled{5}$$

$$1 - \log_{\frac{1}{r}} \gamma \rightarrow \log_{\frac{1}{r}} \gamma \rightarrow \gamma > \frac{1}{r}$$

$f(x) = \sqrt{\log \log x} \rightarrow x-1 \rightarrow x > 1 \rightarrow \left[\frac{1}{x} \right]$

$$Y_{a \geq Y} \rightarrow \textcircled{a \geq 1} \text{ II}$$

$$r_{a-1} \leq a$$

$$y = \log(r \cos \alpha + 1) \quad (\text{لق})$$

$$\Rightarrow D_I = \left(r k \pi - \frac{r \pi}{p}, r k \pi + \frac{r \pi}{p} \right)$$

$$I \cap II \rightarrow D_f = (-\infty, -1) \rightarrow \rightarrow \infty$$

$$\rightarrow y = \sqrt{\log \frac{n-1}{n+1}}$$

$$\frac{z-1}{z+1} \gamma. \quad \frac{+1}{+1} \quad \frac{-1}{-1} \quad \rightarrow (-\infty, -1) \cup (1, +\infty) \quad \textcircled{I}$$

$$\log \frac{n-1}{n+1} \geq 0 \rightarrow \frac{n-1}{n+1} \geq 1 \rightarrow \frac{n-1}{n+1} - 1 \geq 0$$

$$\rightarrow \frac{-2}{n+1} \geq 0$$

$$\frac{-1}{\frac{n+1}{2}} \rightarrow (-\infty, -1)$$

$D_f = (-\infty, 3]$ حقه b $f(x) = \sqrt{(a+1)x^2 + ax + b}$ } $\rightarrow a+1=0 \rightarrow a=-1$

$$f(x) = \sqrt{-rx + b} \rightarrow -rx + b \geq 0 \rightarrow rx - b \leq 0 \rightarrow x - b = 0 \rightarrow \boxed{b = 4}$$

$$f(a) = \sqrt{a^r + 2a + r - a^r} \quad D_f = \mathbb{R} \rightarrow \Delta \mathbb{C}. \quad E - A + C m^r \leq 0 \rightarrow m^r - r \leq -1 \rightarrow m^r \leq -1 + r$$

$$P(\omega) = \frac{\sqrt{t - \omega^2}}{[n] + [-n] + 1}$$

$$t - \omega^2 \geq 1 \rightarrow \omega^2 \leq t \rightarrow -\sqrt{t} \leq \omega \leq \sqrt{t}$$

$$[n] + [-n] + 1 \neq 0$$

$$[n] + [-n] \neq -1 \rightarrow \text{منه تراوند باقی نماند}$$

$$P_T = \{-2, -1, 0, 1, 2\} \rightarrow t_{\omega}$$